SAT PREP

Assignment : AP CALCULUS BC TEST (Integration and Applications)

Part A. Directions: Answer these questions without using your calculator.
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7. Using M(3), we find that the approximate area of the shaded region below is
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8.  The graph of a continuous function f passes through the points (4.2), (6.6), (7.5),
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Part B. Directions: Some of the following questions require the use of a graphing
calculator.
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If f(x) 1s continuous on the interval @ = x = b, if this interval is partitioned into n
equal subintervals of length Ax, and if x, is a number in the kth subinterval, then
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6. Find the average value of function f, as shown in the graph below, on the interval

[0.5].
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7.  The integral L N16 — x? dx gives the area of

(A) acircle of radius 4

(B) asemicircle of radius 4

(C) aquadrant of a circle of radius 4

(D) an ellipse whose semimajor axis is 4
(E) none of these
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9. Acurve is defined by the parametric equations y = 2a cos’ 0 and x = 2a tan 0, where
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10. Acurve is given parametrically by x =1 —-cosfand y=7—sinf, where 0 =1 = 1.
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